MATH 126 FINAL EXAM ANSWERS
WINTER 2013

(a) No. One possible justification is: the plane through (2,2,2), (1,0,0), and (2,3,7) is
8z — by + z = 8 and 8(5) — 5(5) + 5 # 8.

13 02 —13 13
b) — (8,-5,1) = { = —= =

2 t 212
(a) T(t) - ) )
t+2 t+2 t4+2

(b) 2(z—2)+(y—3)+2(z—3) =0

(¢) k(t) = —=————— and lim k(t) = 0. The curve gets “straighter” as t — oo.
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(a) i. point; ii. ellipse; iii. pair of lines; iv. hyperbola; v. pair of lines; vi. hyperbola.
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< —6.271.(;8/3 ~ 0.0003443 (Larger bounds accepted.)



